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GlucoSure AutoCode is an unique autocoding blood glucose monitoring system that automatically selects 
the best calibration each time a test strip is inserted. Calibration error is often the leading cause of 
inaccurate readings. GlucoSure Autocode eliminates calibration errors and makes testing simpler. No more 
code card or button-press code selection is required.

GlucoSure AutoCode o�ers fast and accurate result in 6 seconds using tiny amount of blood. The meter is 
small and compact and can �t into any life style. The large LCD screen is designed for easy reading and up 
to 300 test results with date and time can be stored and recalled for later use. The stored test results can be 
averaged in 7, 14, and 30 days to better understand blood glucose management. The stored results can 
also be downloaded into a computer for further analysis.

Autocoding Blood Glucose Monitoring System

Specifications

Easy to use

1   Easy insertion 2   Apply sample 3   Result in 6 seconds
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Measurement Range 
20~600 mg/dL

Coding Method 
Automatic

Quick Testing Time 
6 seconds 

Memory
300 test results

Data Management
7, 14 and 30 days average

Sample Volume
0.6 µL

Additional Features 
PC link, Bluetooth (optional)

ISO 15197 : 2015
Sample < 100 mg/dL

Sample ≥100 mg/dL

±5 mg/dL
125 / 180

69%

±10 mg/dL
174 / 180

97%

±15 mg/dL
180 / 180
100.0%

±5%
271 / 420

65%

±10%
397 / 420

95%

±15%
419 /420

99.8%

Precision and Accuracy performance 
according to ISO15197 : 2015

y = 0.9951x - 0.4631
R² = 0.9912


